Industrialization

Elements in England conducive to industrialization:


1) increase in agricultural productivity 


2) abundant coal and iron ore deposits


3) navigable rivers and canals


4) advanced banking and financial institutions


5) cooperative government 

Technology snowballed,


flying shuttle increased speed of weaving process, more demand on thread


1779 invention of “mule” made thread faster than weavers could use it


Power loom by Edmund Cartwright restored balance


Watt’s steam engine applied to machinery 


Steam engine invented 1815 to move massive amounts of goods

Industrialization and Imperialism

The speed of industrialization created needs for massive amounts of raw material and for large markets in which manufactured goods could be sold. Colonies solved both of these problems.

Change in Motives
	Before industrialization
	After industrialization

	luxury items (gold, silk, porcelain), items not available at home, religious conversion.
	Religious conversion not an issue, mass quantities of raw materials, markets for manufactured goods.


From Mercantilist economy to Industrial economy

Social changes

1) hastened end of slavery (workers produced and were buyers of consumer goods)

2) raised standard of living for middle class, terrible conditions for workers

3) massive population increase

There was a decrease in mortality rate 



There was a decrease in fertility

Children were needed in agricultural life, there was also a high child mortality rare. In the nineteenth century this high mortality rate declined requiring people to have fewer babies.

Population growth


1700-1900 population of Europe went from 105 to 390 million


North and South America went from 13 to 145 million


4) Urbanization

Migration (primarily to America; this provided the labor base of America’s industrialization)

5) Wealthy business class replaced aristocracy.

6) Family life changes, men worked outside the home, family members led increasingly separate lives

7) Abuses such as child labor (until British Parliament began to pass anti-child labor laws, made education mandatory for children)

Responses to conditions of workers

1) Utopian Socialism (held together by mutual compassion)


They took the Enlightenment ideas to mean social and economic equality, not 
merely political equality



Charles Fourier  

Robert Owen

2) Communism (Scientific Socialism: a scientific fact derived from laws of history)

            Marx and Engels  

3) The pressure of socialists got governments to curb abuses of industrialization:


1) laws limiting women and child labor


2) 1832 (England) property requirements for voting were dropped. The way was 
opened for reform through democratic process. Same in the US in 1828. 

3) Organization of labor (Unions)


4) In Germany Otto Von Bismarck began government medical insurance, 
unemployment compensation, and retirement pensions.

By 1870 Russia and Japan embarked on massive programs of industrialization, mainly to strengthen themselves against European and American power.

Russia –tran-Siberian railway, connecting Moscow with the port of Vladivostok on the Pacific Ocean.

 Japan—with no private enterprise the government footed the bill for industrialization. 

Entire economies became dependent on their providing raw materials for industrial nations.

